201743 18H 7KK 2R C 2 LA

2R c2++t#i

1300m H—hk - &
#*

HE 20, 4,2, 1.4,

.6AA

B354

= 1S _ #£ R 1:24.8 BSFISEAARS 534 614 544 91 445 49 444 47
YS5ILy FR . BAL BE 1:24.3 L—R3 v A6 : MM 252 SN 158 MHM 92 WK 75
HER | FRER | EESESE b E BN BipE (&, B) B HTEH=L—R% L— /7 952 {TE=%IE BEH-FE-AK A
B F | %EEBZE|S 2651235 -HE BF - 2, 3. AfEBIEL 5{TE=0ER - 0—X - %ﬁ A4L ENYIF
& 26| B 2 |EREF/RE|F  4EUT —L— A AR—RBI3F - hff - %3F HEL, NEH, SELY) BIEESFAAL ﬁﬁﬁﬁﬁl BI3F - A - #%3F (6~1) EAY 3 FIESL
&|&| % | Bow WH | £ 5| S12008E |mm Ex | By }gggx —RLYBFEAL - HBEQELYIFEAL > 0.5 OBARKF MIE=1EBXIF2EE &%) 1. 2. 3EBEOMWE
LLES BAoX | BFERM | 274 AR | M BEFR| My (600 LLES A2 E 3R AERT 53ERT
VEPES H6 | -4 B[ ... |KF00128 |[F=3229 [17.01.08 -19F JKR | 17.01.03 -1/ KR | 16.12.26 —31 F 71<,R 16.11.27 63 & 7J<;‘R 6. 11.19 -208 KR
75—k i3 B 490-503 | B4 00120 |F 0001 | C2=5&— 2 |c2af 2 | c2)\# C 274 —fgE C 2
4 56.0 .300| fr 55-56 P95 0.0.0.0 | F=0.0.1.10)8 93 3% 9A 7 9 9B TA K4 |8  8EE TE TA 9\\ 8 87 8F TA 7:7# 10 108 5&I0A
11 LELT Ik KT 12490 | #L40.0.0.0 | FrH0.0.1.26 | 478 -1 $hK# 54 DO® | 479 +19 KIHH 56 DDD | 460 ~11 ALHHH 56 ®®® | 471 -1 AHE 53 ©D® | 472 -2 AHE 53 DDD
(RonyBrh7x) SF 071 KT 12490 | A 3.2.2.20 | F720.0.0.0 | 1300m 4 F 1:27:6 41.0 | 1300m & & 1:27:8 41.8 | 1400m & 7= 1:34:8 43.1 | 1400m & % 1:39:6 45.6 | 1300m & & 1:30:4 42.6
——[#] | 32449 | 2 1.1.1.8 | £40240 [ -0 SMM 39.2-39.4 242 (7) | MHM 38.3-40.5 232 (7) | MMM 37.2-40.9 221 (7) | MMS 38.2-41.3 221 (8) | SWM 39.8-41.0 132 (8)
() - 0.0.1.13 | 45120580 | £ 0000 | 0B 000 1 | »oiy =9 7(2.7) #ZEE | 94 yy3v3.0)  %&E% | 753-F (4.2) AEE |74 7ZA 9 (7.4) kFEK | 770v-94-v(3.3)  HMEE
FFARTF o 73 ©: . |KF0005[F=0000 1701093 =& 'Ua 16.12.25 ~2 3 ,R 16.12,10 0 & 'ﬁ 16.11.26 -2 & -k_,R T KR
Ly RIS v L EBRR £ 430-430 | %4 0000 |F 0000 |BER-£H 7y Xs— E‘;‘é?ﬁﬂ =K 5@ 17
J Ed 54.0 .167| Ff 54-54 | P4 0006 | F=0005 |5 128 2&I2A Vq 6 = om 5% OA 9 T 1288 3BIIA
2 AN OPYr &L £ | A 50000 | Fm0.0.01 [457 +2 BER 54 Q0@ | 455 2 BRER 54 Q@@ | 457 +3 BER 54 DO | 454 +1 ERE 54 ©O@ | 453 -1 BER 53
[CESSEDI) HF 067 FH0.0.0.6 [ F70.0.0.4 [ 1600m & F 1:44:9 40.1|1600m & F 1:44:5 40.3 | 1600m sz K 1:46:7 41.8|1600m & % 1:48:0 43.7| 850m 4 F 0:52:7 37.1
——[%] ] 1.0.1.20 [ £ 0.0.0.1 | £500013 [ +-vvn SHM 39.3 423 (11) | MMM 39.4 253 (6) | MMS 40.9 233 (8) | MMS 43.0 343 (7) | HMH 36.1 423 (6)
EEREM 0.0.0.5 119&050150 221017 |58 10027y /2= 1)  #kFE | 4-052°0(1.8)  HEE [ o -zv) (1.6)  KESB [ Y/ 2-v(1.7)  FEkSE | 137400 REL
VI NV TR H8 -2 1 D JKF 0000 | F=0000 |17,0228 -17:& ZaEE| 170210 -46F = | 17.01.27 -165& = | 17.01.17 6 B ZGE|17.01.12 -188& &k
AOovHiL LLIARES §476 504 BA0.000 [F 0000 | H—RS54F A3 B/BYSH =7y |ARLTE A2 f—g" A4 FEH4 =7y
J 56.0 .278| & 55-57 P94 0.0.0.0 [ F=0.000 |9 1088 2% OA M |8 9 6& 9A 8  9m 1&H 9N ﬁm 838 S 8A 10 1088 2&I0A W
3 Kl LAavF BAARE #40.0.0.0 | F180.0.0.15] 480 -4 B 56 DD | 484 -6 FZB T 55 490 +1 ERIR 56 489 -4 #ET 56 ... 493 0 BTN 57 @WM@®
(B2 v FH—2) S5FE N FH0.0.0.9 [ F70.0.0.1 | 1600m 4 B 1:48:2 42.0| 1800m 4 B 2:07:1 46.1 | 1400m & B 1:31:3 38.4 1400m & F 1:34:3 41.5| 1400m & B 1:32:4 41.8
——[#]] 35546 | 22311 | 2400031 [ - @-®-®-| HiN 40.3 142 (6) | HMS 40.9 151 (8) | MMH 38.3-36.8 152 (8) [ MMM 38.6-40.3 233 (7) | HMM 35.4-38.4 141 (10)
(H) =247 0.0.0.0 | 05622580 | £ 35515 | 28 1209 | Ui 4Ivh h-(4.2) k3% | 9 1047 540(8.8) EiB% | MY v (3.5) A | AR E Y (2.5) SesEk | Sub9(-v(5.9) W8
FATASv— HT |2 B[ ::::: |KF0008 |F=0001[1701.093 =& 7J<,R 16.12.25 -8 3® JK)R | 16.12.12 b & JKR | 16.11.28 0 & KGR | 16. 11,12 -2 & KR
BALTSY K ERARRR B 442-462 | B4 0.0.0.6 | F 0.0.0.0 | fHR - 7y XR— B1 F ¥ B1 B 1 B1 =KER B1
b4 55.0 .079| fr 54-56 P95 0.0.0.0 [ F=00010f10 1288115 8A 7:% 8 9m 7&H 6A s |10 1288 THIOA 7 1088 3% 9A 8 1088 4FI10A
L 4 BALRSRYLY PR JKE 12530 [ #L40.0.0.0 | Frmo.1.2.11 [ 472 +2 EFE 56 @O® | 470 -2 $ARE 55 ©@O@O@ | 472 -1 $5ARk 55 473 -3 $hKHE 55 Q@@ | 476 +17 $HARFE 54 QWO
(FSA4T7vXBAL) &F .500( KE 1253@ | T 0.0.0.13 | F750.0.0.7 | 1600m & F 1:45:1 39.7 | 1600m 4 & 1:45:2 40.8 | 1400m & 7 1:31:1 39.4 | 1300m # % 1:25:3 40.7 | 1400m # 7 1:29:3 38.8
——[#] | 12443 | 20015 | &4 1248 [ -0 SHM 39.3 243 (8) | MMM 39.4 222 (7) | MMH 37.2-38.9 123 (5) | MMM 37.1-40.0 233 (6) [ MHH 37.1-38.5 143 (3)
Wb ek 0.0.0.12 | 30532080 | £ 0.0.0.0 | %8 000 1 |75 /t71-3(1.3) 3k [ #0157 ¥(2.5)  3k%E | 7 WHHL(2.6) B | A4 -R0R-(2.1) ks [ 44V -200-(1.6)  SEaks
FULNATYTILE 2N O: . |KF0001 | F=00010[17.01.02 8 % 7}<;‘R 167724 -T0F KR (1612182 F kR 161210 5 & KR |[16.72.03 —24;3 7)<;‘R
AL anFES KA BA 00010 | F 0000 |FEHEC2 C2+/\# 2 |ZiEE C 2 | C2+H#M c2 %
v 3 < |540 o048 P94 0.0.0.0 | F=0.0.0.11)5 83 2% 3A 5 9gF 6% 5A 5 9mI1EON ®BM|b5 85 8F 6A K4t 9 1028 2§ A
515(0 | x1vamnErz E | TH#w KA 12418 | #.40.0.0.0 | Fr0.0.0.6 | 390 +1 $HAHRE 53 Q@@ 389 -2 $AAKHE 53 ©O® | 391 +5 #3KKF 53 ©®D) | 386 -1 #3KKF 53 ©BE) | 387 +4 §AHEF 53 @OO
(B=/FLLy R SF 071 KF 12416 | A 0.0.0.13 | F750.0.0.0 | 1300m 4 F 1:28:4 42.4 | 1300m & & 1:27:2 41.3 | 1400m & 7 1:32:3 39.6 | 1300m & 7 1:28:6 42.5| 1300m & % 1:30:7 43.8
———[%]] 0.0.0.31 [ 0003 |£500030 [+--v-v. MSM 38.8-41.1 422 (6) | MHM 38.5-40.4 333 (5) | SMM 38.6-40.7 355 (4) | SMS 39.1-41.5 333 (4) | SMS 39.6-41.3 331 (9
RiiE— 0.0.0.15 | #05£0%£080 | £ 0.0.0.1 [ 10580 00 0 | n-pnvs-(2. 1) HEE | T 0T2.2) HAESE | 74045 (0.3) Bk | 2-4ub (1.8) Feks | 13971 (3.5) FekE
N=I554 H8 |4 B A:::: |KF0005|F=0000[17.01.03 -7 F IR |16.12.25 -13& KR 161211 I ¥ 71<,R T6.11.26 -5 & KR | 16.11.14 -4 & KR
I—JLERT 4 — N B 521-540 | B4 0.1.03 | F 1.000 |[#]ZEB2 B2 ki3 D2 B2 JI~IL,R B B2 | / RUN— B2
TA 56.0 .063| & 56-57 P4 35118 | F=26.1.22)5 1138 2&I0OA M | 12 1288 8% A 10ZE10% 9A xﬂ 9 1288 4% 8A 9 1288 2®I2A W
(N 6| a|21x5Ey02 i | SRAA #40.0.0.0 | Fr83.0.0.7 [ 533 +1 $Ak# 583 ®OG® | 532 -1 A 56 @D® 533 +2 KIFAH 56 531 0 A4 56 ©@® | 531 +8 KIFHE 56 @DQ
(Clever Trick) AF 067 FEH1.0.1.16 [ F750.0.0.3 [ 1400m & F 1:30:8 40.5 | 1600m 4 7F 1:45:4 39.8 | 850m 4 & 0:53:4 37.8| 1400m 4 % 1:34:6 43.5 [ 1400m & 7 1:30:2 40.2
——[#]] 86.1.41 [ F21.05 |&586137 [ +--v-v. MHH 37.5-39.3 323 (5) | MMM 39.2 133 (8) | MMM 36.3 332 (10) | MMS 38.2-41.8 422 (12) [ HHH 36.9-39.4 143 (7)
L&HH 0.0.0.0 | 85620580 | £ 0.0.0.4 | 10580 0 0 0 | byyagn ¥4 (2.2) 55k | IAEIINA(2.9) B | 13=ubIN (2.0) S | 7 Uvkrk hyb(2.0) wEERE [ 4775 400 (1.9)  dkkE
FILAEY k HI|3 A | KF00018 [F=0000 [17.01.085 F 7R |16.12.26 2 F 7R | 16.12.11 -5 F KR | 16.11.28 ~135& 7)<,R 16.11.13 -0 & mR
ESKHIES R — HER B 442-458 | 40006 |F 0000 |#ETEB B2 | BEOBER B2 r1dl~|2€)l| B2 |B2— AETEEE
&N 56.0 .286| /T 55-58 P95 0.0.0.0 | F=0.000 |5 55 5% 6A 6 1188 6FI0A IS 1% 9N Bm |9 103 9EIOA 7:% 8 1088 9FIOA xm\
T[7| a2 v ey B | #Lix #40.0.0.0 [ F0.0.0.0 [471 +4 $EB 56 ®©OG | 467 -3 AHE 53 DO 470 -1 #E® 56 @MD| 471 +3 KAAE 53 @D | 468 +6 AHE 53 D@D
HoF—HALUR) EF 429 EH0.0.016 [ F70.0.0.12 1600m 4 F 1:45:7 39.0 | 1600m 4 7 1:44:5 40.0 | 1600m 4 & 1:46:9 39.5 | 1800m 4 T 2:04:1 42.9 [ 1800m & 7 1:59:9 40.7
——[#] | 52453 | 21.01.9 | £400027 [ ------- SS 38.6 253 (5) | MMM 39.4 243 (5) | MMM 40.1 135 (2) | SMS 41.8 143 (5) | HWM 39.9 133 (6)
ERAEHR 1.2.0.12 | 1562080 | £ 52425 | 1080 00 1 | ahY-swk =(1. 1) B | 7-994=0)" (1.4) Sk | 49547 199 (2.4)  H%E | 1992427 (3.0) SBSE | HMA-N (2.6) kiBE
FILAEY R 10| -3 T |KH8342 |F=T1111 [17.01.07 -T1:8 JKR |16.12.30 -8 & 7)<,R 16.12.12 -1658 /KR | 16.11.28 1638 7}<,R 6. 11,14 —113& 7)<,R
+92 HARZ k A B 429-450 | B4 23.420 | F 0000 | C2PU#E c2 | c2m# C2=f 2 |C2= C2=
v 54.0 .207| /T 56-57 40000 | F=1.1.0.2 |7 1088 5& TA 5 1088 7%& 6A 5'1» 9 988 5%F 8A 6 1035 8%F TA % 5 10FE 2% 9N W
708 FU—VELRE— RE | HER KT 12343 | #L40.0.0.0 | Fru5.3.2.13[ 444 -2 $5K% 54 DDD | 446 +4 $A#h 54 DOD | 442 0 K4 54 @@ | 442 -3 $3k# 54 ©O® | 445 +5 ik 54 DO
(Mutakddim) BF . 879| KT 1234Q@) | A 7.1.3.24 | F/3.1.5.27 1400m & F 1:33:3 40.7 | 1400m & & 1:34:7 42,0 | 1400m & 7 1:34:3 41.2 | 1400m & F 1:34:4 42.4 | 1400m & & 1:30:4 39.9
——[#] [12.6.11.57| Z 3.1.6.7 | @& 2omss| oo .- SSM 38.3-40.0 243 (6) | SHS 38.8-41.6 233 (6) | SMM 38.8-40.4 223 (7) | MMM 38.0-41.1 332 (6) [MMH 37.3-38.7 242 (5)
FHER 0.0.0.7 | #25£163£0i80] £ 0.0.0.2 | 9i@ 00 1 1 | $+¥/t-0-(2.2) WS | f3=ubh’ Y-/ (2.1) @k | 37303 (2.5) ok | 4779(3.0) SRk | 7 F90RHN - (2.1) Bk
O—To7 > 55 | 1 B[ ... |KF01228 | F=0T1.227[17.01.08 -33F JKR | 17.01.03 -18%F KR | 16.12.25 -13:& 7k;‘R 16.12.11 35  JKjR | 16.11.27 2438 KR
Sw—TFRZR b [hdd B 378-302 | B4 1.2.225 | F 0000 | C2ZF= 2 | c2+—4 2 | c2+—# C2+# 2 | c2a8 c2
i 54.0 .208| fr 53-54 P94 0.0.0.0 | F=1.22.16(9 958 8%& 9N K47 BB 2B TA W 7 988 9F 8)\ 7(% 9 958 2% 8A W 8 988 5% TA
89 ILHY FI—LR B | Ik KT 12509 | #L470.0.0.0 | FmE0.2.1.25 403 +1 AHE 51 @D® | 402 -1 AHE 51 ®B® | 403 +2 AHE ®®®@ | 401 +3 KHH 51 ©D@ | 398 +4 AHE 51 ©DD
(RFAT—ILK) AF 071 KF 1250Q | A 1.5.1.42 [ F750.0.0.0 | 1300m & F 1:28:4 42.1|1300m & F 1:26:6 40.9 [ 1300m & F 1: 25 7 40.7 [ 1300m & 7 1:29:8 42.2 | 1300m & % 1:29:0 42.7
——[#]] 15679 | F0.1.3.8 | @4 15679 [+« MSH 38.7-39.2 221 (9) | SHH 38.9-39.0 322 (8) | MMM 37.7-39.8 323 (9) | SMH 40.1-38.8 211 (9) | SWM 38.8-40.4 231 (9)
RIE— 0.0.0.1 zmizgo@o £3200.00 [ 0B 0001 =97 5v@ 1)  EHE | 43Uk PUNF(2.8)  FEE | 90/9 IMH1(2.1) Bk | 490 IN(4.5) HESE | 144 v (3.5) Sk
ZFLI—LF 55 |4 KA 00325 | F=00214[17.01.08 -1 F 7K,R 17.01.03 -7 F 7kiR 16.12.25 -1 & KR | 16.12.11 -1 ¥ KR | 16.12.03 -13:& 7)<5R
N—F)a—2 ERY %403411 BA2022 [ F 0000 | C22F%Z c2+# C2Aafl 2 | c2/\# c2 | —fEE C
5.0 217 T 54-54 P94 0.0.0.0 | F= 202145  98& 1% 8A ﬁm 7 988 8% 8A 7 83 4F 6 8 1088 6% 8A 6 1058 8% 9A
8 10| at| n—z b—1— BE | K KF 12410 | #140.0.0.0 | FrH0.0.1.19 | 403 0 BT 54 DD® | 403 -1 A#TBE 54 .@@ 404 +4 AKATHE 54 @3®)| 400 -2 KFiHE 54 GG | 402 -2 FH¥ 54 @
(b=—E>) SF . 250[ KT 12410 | A 0.0.4.18 | F750.0.0.0 | 1300m 4 & 1:25:0 39.5 | 1300m & & 1:26:3 41.2 | 1300m & 7 1:25:9 40.1 | 1400m & 7 1:33:7 41.9 | 1300m &  1:28:6 43.3
——[%]] 20549 | £ 0007 | £520547 [ 0. MMM 37.9-39.4 244 (3) | MHS 37.3-41.2 234 (5) | SSH 39.0-38.5 412 (8) | SMS 38.3-41.9 344 (6) [ MMS 37.7-42.2 413 (10)
NeH= 0.0.2.6 | #%25£0%0i80 | £ 0.0.0.2 | 98 000 1 | AN Wab9ya9(1.6) k=S | 7 43/9E4(1.8) SeEH | Myagyan(2.0) HREE | {17 1(0.8) Wk | T4Up-5(2.5) ¥
KR — k1300mig 4t 55 R (%ETHRT : 2015.03. 16~2017. 03. 15) EHTE &R 3 HRE
(32 EHEA HEEY 1% 2% 3% EH 23 i % (& 1 2 3 456 78
1 RFAI—L K 164 25 17 17 105 0.152 0.256 3 (3#M*E) 36 33 32 32 30 31 30 31
2 O—UXA v AL 8 17 20 14 27 0.218 0.474
3 SyyIuREy h;{ 81 %11 749 0.173 0.309 nﬂg%ﬁ;ﬂfﬁ?ﬁz 5 @552 :@isﬁr’ﬁwv A
4 TF—=FAFAF—XHY 93 12 8 8 65 0.129 0.215 & > i i
5 oux 63 11 79 3% 0175 0. 286 @ XKKnn XXX EBIREC T L—2 ¥
6 wyugTuk 51 10 8 429 0.196 0.353 t @® L—2 5 FIER
T Fa—=TAuiH b 38 9 9 6 14 0.237 0.474 1300m A — - S5 5ERID L— R E 4
8 AL vavR—5— 55 9 7 9 3 0.164 0.291 = L XXX nn XXX: 7/7@m77r1n \iﬂfxﬂiﬁ Btiat
9 +Hvs/oJndg 83 8 17 10 48 0.096 0.301 % @
10 ISvssqr 79 8 715 49 0.101 0.190 5 0@0®
. . . N FEEMY TS, YHORERL], HUERGY, BFLAER S, $NTEMERITOMBREMALTREL,
20174F3H18H KR 2R C 2 HLAL U5 7Ly FHR  —fk1300m H—F « 45 A DOV, BERERUET,




